SOLPOWER MACHINE
ELECTRONIC CORP.

DAMS

The Complete Torque Motor
with SOLPOWER DPM torque motor imbedded




e
REER

[== 7

anE
REERNWSMEEREE  SBEWAREKEZERN SOP BELEERE -
BOENE  SmBEREERERTHK ESREWEALEETHNE N

AR #5
RECTZNRBEB R EEFPWRECREFCHFEEK - LWEFES
RFEME - BB ERARE

=k
PIRERRIZL - EEBEMBEERINER - BEHESNEE - BH=
HHERRAERNINER HEEFHRER



MANAGEMENT PHILOSOPHY

Quality

For providing excellent high-class servo motors, high
precise detecting instrument and strict SOP to control
product process, we strive for offeringhigh efficiency,
quality and low after-care service rate so that we have
motivation for continuous improvement.

Service

Based on the concept of credibility, we provide
complete service network and satisfy standard and
customized necessaries from customers to expand
international market.

Innovation
In order to create mutual beneficial solution between
customers and us, we have steady technical core,
vertical integrate research, development and technical
process for providing outstanding products to upgrade
industrial additional value.




L]

AEIET

REWERNBRASIMIIN 1995 F - uMEREEZTE#KEOEEER
HREN - 50 - APRFEECHNTHMFELG - FRUESMFNEED - &
REMSHECR  EVRIZGENIMEENZETIREES S - MRSAEFERK
WMEMBE  REREBEARSEE RTEKRSEE  KMFHE DD FEAAFEL
EEY  HRERGUEEMERSE B = BXZ#HFE  £ERMNERTL
BRIt s AP ER - WOMNBER=18HER (B -H T = Wt
FRE - ONE - HIES ) REEA - SNEFREE -

RERBAFEZES  AHRAERBELAREN WESEHBREFTK -
BB R SBENHER FEERTS  SERGEEFE" mE KRB -
Bl MEEET  DEAMBNEARENEmmE - EILERE  BERE .
SHERANR  BEEBHRARSN - KRS EEFERE LB EBAIARK




COMPANY PROFILE

CHENG CHANG MACHINE ELECTRONIC CORP. was founded in 1995.In
consideration of world ranking of Taiwan tool machine export, the Forth and Fifth place,
it was a pity that Taiwan tool machinery companies have no their own spindle motor
controllers and the key components need to be imported. CHENG CHANG initially
integrated high quality controllers and drivers and developed spindle motors including
induction servo motors, synchronous servo motors, linear motors, DD motors and build-
in stator and rotor specifically for general industrial machine. Owing to the outstanding
product characteristics and quality, which is compared favorably with spindle motors
made in Europe, America, and Japan to gain very good feedback from customers,
our motors export to thirty nations including China, Germany, Japan, ltaly, U.S.A.,
Switzerland, Korea, Poland, India in the world.

Since establishment, Cheng Chang Machine Electronic Corp. continually promote
precision and stability of products to research and develop new products in the trend
to expend international market for meeting a variety of markets and customers’
necessary. We have insisted on the business management ideas, “quality, service, and
innovation”, for many years to improve technology and steady quality of products. In
the future, we will keep putting in more efforts in research and development to create
a resplendent future for transmission industry and to achieve the mission of Energy

Efficiency and Carbon Reduction.




EmfFltes

IRICX SRR
E P& FiREIEH ]

e
(DAMS 170)

EmfFIteEs

P67+

KEHIBEAEIE
'-

HEIERIEL
(DAMS 235)

Product features and advantages

SHNBE

- EREERIDES BERESY  BEE BIRE -
- BEBEEAET (4x) SE ( ﬁiﬁéﬁﬁ%?ﬁ}ﬁiﬁ%
gl ) AREER -

- 128 22 bits i@ T\ iRISES  TEITEREEN

SOLERE 26 bits
- BRODINLER BERER EE-

SETHRI(L

O ESFEKRIEBEEEERNIER
OKEEPRENRSSETHEBITER -

SIEEL

- BHERL Tt -
- RECKEIRRINEE  EmPLK IP FREREM -

Compact

- Direct connection to the load, Gearless,
Backlashless, Low Noise.

- High over-load capacity (4x), High speed, High
Servo-response.

- Absolute encoders, High resolution 22bits (up to
26 bits), High Precision applications.

+ Hollow-Shaft structure, easy wiring and piping.

Customize

- Customize motor plate for mechanical fitting if
needed.
- Customer-Supply-Encoder available.

Cost-effective

- Structure part modulized, local tooling.
- Air seal is equipped for robust IP protection.




EHNTE - BiREVED THE COMPLETE TORQUE MOTOR
Classical process + National elite performances WITH SOLPOWER DPM TORQUE MOTOR IMBEDDED

=R EZETER (EERIEH)
(DAMS 316)

FA & &R {5l Applications

EE2le- 253 - Automation Machines
- T EESn - Semi-conductor Manufacturing Equipment
- EERA - Robots
- CNC FETJ# ~ B * CNC Gear Tool Grinding Machines

REIBAERSEUMNERRE (BRHL) EREMZROATKR - FaREIEAR -

All DAMS series are suggested to be horizontal installation, for other installation
directions, please contact SOLPOWER for further details.



EE o e 555 IR Bl

Model Designations

AR Fi Description RUSERAEIETE 2% Data position of the order No.
DAMS | 235 - 26 N | OF H - EO2

ERETVFREWRS

Complete Torque Motor

145mm 145

p 170mm 170
EHNME

Outer Diameter 235mm o35

316mm 316

BEIFEE Fixed number

ZETEH ] Rated Torquea)

26Nm 26
DAMS?235 46Nm 46
ERIFFEERRK A
(see table. A) B60Nm 60

90Nm 90
N N #|IKE (F85% ) Enclosed, self-cooled (default) N
wang -
Cooling BIKE Enclosed with Water Jacket, water cooled” C

may i
%E%IH c) M|AES without 5
Pneumatic Break G®E with B
=ty 3 S rhIe £% ) hollow shaft, standard (default H

EEHE%}L%IH IZHECRZEER (FERR ) ( )
Shaft Extension =T others -

BEE Fixed number

NIKON Protocol EO02
RENISHAW-SIEMENS E06
e RENISHAW-Mitsubishi E07
FiGE AN
iSRRI RENISHAW-FANUC E08
Abs. Encoder_
Type Compatible RENISHAW-Biss-C E09
HEIDENHAIN-ECA EnDat2.2 & E13
RENISHAW-Panasonic E14

HZH4R (¥85% ) From side(default)
E%Mﬁﬁﬂ . #FH#E From NDE(non-drive end)
Connector Direction

HE other method

BEEE Fixed number

KRZS Design revision

RATRBETEIRISERETOUEER - WBRERRARSZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



I A/ Table. A
BNm
T1Nm
DAMS145
14Nm
20Nm
8Nm
14Nm
DAMS170
18Nm
26Nm
26Nm
46Nm
DAMS235
B60Nm
90Nm
55Nm
95Nm
DAMS316

120Nm

180Nm

fi|st -

06

11

14

20

08

14

18

26

26

46

60

90

55

95

1B

1H

DAMS £33 iE% 43 758 / DAMS Torque Distribution

. , Lmxmmse
1st Type: Outer Diameter 145mm, Inner Diameter 18mm Max. Torque
EREISE
Rated Torque
DAMS145-06 6/24Nm
DAMS145-11 11/44 Nm
DAMS145-14 14 /56 Nm
DAMS145-20 20/80Nm
: : : :
100 200 300 400
2nd Type: Outer Diameter 1770mm, Inner Diameter 20mm
DAMS170-08 8/32Nm
DAMS170-14 14 /56 Nm
DAMS170-18 18/72Nm
DAMS170-26 26 /104 Nm
: : } }
100 200 300 400
3rd Type: Outer Diameter 235mm, Inner Diameter 36mm
DAMS235-26 26/104 Nm
DAMS235-46 46 /184 Nm
DAMS235-60 60 /240 Nm
DAMS235-90 90/360 Nm
1 + 1 }
100 200 300 400
4th Type: Outer Diameter 316mm, Inner Diameter 36mm
DAMS316-55 55/220 Nm
DAMS316-95 95/380 Nm
DAMS316-1B 120/480 Nm
DAMS316-1H 180/720 Nm
f '
1 1 1 1
200 400 600 800

REMARK:

a) &% IEC60034-1 fH&d -

b) MERKERFTZRANKT - WHEHATEHDEEEE

B RAEE 2 5 -

c) RERREBEEL - FENINMKEWMR (AO"ME)

BRI o
d) RZ2Hf -

a) Accroding to IEC60034-1.

b) Water jacket is necessary for the water cooling option

; When water cooled, the values of rated torque and
rated current on the spec. will be 2-times higher than
the original ones.

c) Pneumatic type holding breal. A solenoid valve is

needed for the break.

d) Long lead time.




DAMS145 Series EREFRR

Model Designations Rating and Specifications

SOLPOWER Complete Torque Motor

Model DAMS 145 - [ ][] 06 i e 20 st
Using SOLPOWER Torque Motor DPM 2 145-070  145-090  145-110  145-140 Remark
IEH Item EE{I] unit & Value
= == =z b)
5@5)‘]%5?@7\%@ Vb Vrms 220VAC
Driver Input Voltage
= c)
RKEH m Nm 24 44 56 80
Max. Torque
BEEE "
Max. Speed Vm rpm 500 500 500 500
BEMEEINR 188 346 440 628 . .
A Em\ /)_
Rated Power Output e i (376) (692) (880) (1256) () ABER BN BEE
ZEEHRD 6 11 14 20 )
A Em‘ /)A
Rated Torque T Nm (12) (22) (28) 4o) O RoBERENNE
25
BEME Vr rpm 300 300 300 300
Rated Speed
iy
e Ir Arms 1.5 2.8 3.5 5.0
Rated Current
= =375 C)
SAER Im Arms 8.5 15,5 19.5 275
Max. Current
[}
Ll KT Nm/Arms 4 4 4 4
Torque Constant
REEEEs c100pm KE Vrms 27 27 27 07
Back EMF@100rpm (L-L)
il
MR p 20 20 20 20
Poles
RS Eily ka2 32.9 37.3 42.5 51.5 i
Rotor Inertia J kg cm (869) (40.6) (457) (584) () ARVBER B REHE
HEHEIR) (BHREKE) with 5kg/cm? air supply
Clamping Torque N e e o 60 60 RELEED (Pneumatic)
~H F
=, =) Fa N 1500 1500 1500 1500 ﬁ
Allowable load H
SREFIFEEE FxL %%TL F
Allowable moment e Nm 40 60 60 60 E
ERSATO / BMaRE
Max. radial / axial runout of Rr/ Ra um 10 /10 10/ 10 10 /10 10/ 10
endplate
EMEE | SERE ©
Absolute accuracy / P/ Ps arc-sec. 20/ 8 20/8 20/ 8 20/8
Repeatability
sz
PoIRE R IP - P67 P67 P67 P67

Protection Class

SOLPOWER Complete Torque Motor £ SOLPOWER B2 DPM 331 Torque Motor SE1TH##EH15 -

BEENEeTEsR A 220VAC » B{FF 380VAC HIEEENES » Vm x 1.5 » EEMRSTE: -

EE Im B 1818 EH Tm -

%E;EE@ESEU’\E%@ZK » BEtEE - DAMS145 2RI FIBEE/R 8 » BRIFIIROEEEIERENZEE | KilTiiEnsE s SOLPOWER 112
=K

B a
b
c
d

L=

e) P Ps#RBERA RENISHAW XL80+XR20-W BEIER » Hob 20 BIRHERIVER ( IREMRISes ) - &iitiligizEa SOLPOWER TIEAE -

RATRBETEIRISRETHNEIVER » WERBORSZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



DAMS145 BEREEKE NERY

External Dimensions without break (in mm)

03 - 04

B8 iR

Connect from

SIDE

E)7J#%ER Power conn.
EX#RM23-6pin 180

#RiBESEIAENCoder conn.

BX#EM23-17pin 180

8-M6x1.0PxL10
P.C.D.75 &5
Rz,

for Rotary Part

218 H7 BZ

8-M6x1.0PxL6
P.C.D.131, %5
BEEZE3(830)
for Fixed Part (Top)

YTt

Connect from

NDE

B 7JEEEPOWer conn.
BX#EM23-6pin 180

#RISEREIEENCoder conn.
EX#RM23-17pin 1808

KIHHEEAWI (085)

(BEXHHE)

L
KBHETEWo (28)

Model L1 L2 L3 Approx. Inentia
DAMS145 (mm) (mm) (mm) Mass(kg) (kg*cm”2)
06 139 92 36 11 32.9
171 1569 112 56 13 37.3
14 179 131 74 15 42.5
20 209 161 104 18 51.5
2165
KEBAME (ERHHE)
@145
(EKTHE)
2118 100
WERHEAIME
@Q@).?O &
RZHEE
for Rotfry P.ar‘f " % % %
L 1 © 4-M5x0.8PxL10 ©o
S P.C.D.30.5 5 ——_ ©

L3
L1

L2

(BRTHHE)

8-M6x1.0PxL10
P.C.D.75 &5
ERTRl

for Rotary Part

218 H7 BE

8-M6x1.0PxL6
P.C.D.131, &5
BREZE3L(830)
for Fixed Part (Top)

KITHETAWI (083E)
(BNSHR)

KIBHEEEWo (28H)
(BKHH#E)

37

8-M6x1.0PxL12

@115 h7
BEZXE
for Fixed Part

P.C.D.130, 2
0 BEEZEIL(ER)
for Fixed Part (Bottom)
REEIEEE180E, 6x4RBEXSINR , KEE>3kg/cmn2
FRESEKEEHECHES) BVBEEKSumMMT

Model L1 L2 L3 Approx. Inentia
DAMS145 (mm) (mm) (mm) Mass(kg) (kg*cm”2)
06 139 92 36 11 32.9
11 1569 112 56 18 7.8
14 179 131 74 15 42.5
20 209 161 104 18 5156
D165
KEBANE (BNSHE)
@145
(EKTHE)
2118
BREANT
290 h7
BRTEE
for Rotary Part n
I 1 © 4-M5x0.8PxL10
- P.C.D.30.5 %5
[¢]

L3
L1

L2

A

8-M6x1.0PxL12

BEEZEE
for Fixed Part

C T T T
% i
2115 h7

P.C.D.130, 52
BEREZE3L(ES)
for Fixed Part (Bottom)

RIEBIEER180E, 6x4REEXSINE, FE>3kg/cm 2
RRABEKREMECEES) BVBESKSumT




DAMS145 FE#HE NERY

External Dimensions with break (in mm)

. Model L1 L2 L3 Approx. Inentia
Bl R DAMS145  (mm)  (mm)  (mm)  Mass(kg) (kg*cmA2)
Connect from

06 175 128 36 16 36.9
11 195 148 56 18 40.6
- FRHEBUCL

&) 7#%TEPower conn.

R2M23-6pin 1808 = 14 215 167 74 20 45.7

#RISE8EIEENCcoder conn. FRECL

E#RM23-17pin 180 (P6RE, 5kgf/cmA2) 20 245 197 104 23 53.4

2165
KERAME (FKHHE)
0145
8-M6x1.0PxL10 (EXHHE)
P.CD.75 %5 2118
BIRREI, BEEAN T
for Rotary Part 290 h7
EReiE "
= for Rotary Part 4-M5x0.8PxL10
018 H7 BE f 1 - P.CD305, %5
5
jul
KIGHETAWI (085E) hr
(BXHHE)
N
K/BHETAWO (28LH) 8-M6x1.0PxL12
(BNBHR) P.C.D.130, %5
} BEZE3\(EED)
g g/\gxﬂg?P%% for Fixed Part (Bottom)
BEZE3L(8ER)
for Fixed Part (Top)
©115h7 N S P,
ERZ&E REEIE180E, 6x4REEXSING,, RUEE>3kg/cmA2
for Fixed Part FREBEKREMECRES), BUBEERS UMM T
, Model L1 L2 L3 Approx. Inentia
{éTj_ H:', ,"f.,? DAMS 145 (mm) (mm) (mm) Mass(kg) (kg*cm”2)
Connect from 06 175 128 36 16 36.9
11 195 148 56 18 40.6
3l AEUCL
&)/J1%8EPower conn. -
BIE23-6pin 1808 /| @RS Sigticm2) 14 215 167 74 20 45.7
#RiSesEIBENcoder conn. SREECL
EX#EM23-17pin 180 (D65RE, 5kgf/cmA2) 20 245 197 104 8 53 .4
2165
KERANME (BNHHE)
0145
(FEKHHA)
-M6x1.0PXL1 2118
EPB.C.SXB(,)%X’;}O BREANE
ERZEI @90 h7
for Rotary Part @Az E for Rotary Part n
e ——
[ 1 ©
218 H7 B ( ) - 4-M5x0.8PXL10
E) | P.C.D.30.5, %5
KW (0838) /<> "
EKEHE) | =
7 /@ .
KIBHEBAWO (28) ~
(BB =
8-M6x1.0PxL12
grggﬁwé?%% P.C.D.130, %5
BEZHEIL(EER BEZLE3(EED)
for Fixed Part (Top) — . for Fixed Part (Bottom)
§ % %\ )
o
@115 h7 RUEREIE180E, 6x4RBEXENR, RE>3kg/cmA2
BEEZ%E for Fixed Part FRBEEKREEECEHES) BUVBERRumMT




DAMS170 Series

SRR

Model Designations

Rating and Specifications

SOLPOWER Complete Torque Motor _
Model DAMS 170 - [1[] 08 14 18 26 B
Using SOLPOWER Torque Motor DPM? 160-070  160-090  160-110  160-140 REINETL
IEH Item BE{i] unit & Value
=1 == =E D)
REENE N\ B Vo Vrms 220VAC
Driver Input Voltage
= c)
BAET) Tm Nm 32 56 72 104
Max. Torque
BEEE"
e vm rpm 800 500 800 500
BEEEBINER 251 440 565 817 , ~
s =l = D
Rated Power Output Pro W (502)  (880)  (1130)  (1634) U\ PIOVEERENTHE
EERN 8 14 18 26 , ~
i =l = D

Rated Torque e Nm (16) (28) (36) (52) () AEER BN THEE
X T §
HEWR Vr rpm 300 300 300 300
Rated Speed

[—=T--}
REE Ir Arms 3.0 3.0 5.6 5.6
Rated Current
= =375 C)
BABR Im  Arms 16.5 16.5 310 31.0
Max. Current

h
BN KT  Nm/Arms 267 4.67 3.20 4.64
Torque Constant
[=5]

RREE @100rpm KE  Vrms 17.9 314 215 31.2
Back EMF@100rpm (L-L)
Mg P 20 Pl 20 2D
Poles
RS Bl *om? 48.9 57.2 64.4 75.1 v
HEHRIAT) (GRERE) with 5kg/cm? air supply
Clamping Torque b e lee oo 100 lee KEEET (Pneumatic)
~H F
BHERAR Fa N 3000 3000 3000 3000 ﬁ
Allowable load "

= o Fc . p"L":
REFDEEM FxL Ma Nm 70 90 90 90 %;l ==
Allowable moment
ERSATO / WaREE
Max. radial / axial runout of Rr/ Ra um 10/ 10 10/ 10 10/ 10 10/ 10
endplate
ELEE | SEEE°
Absolute accuracy / P/ Ps arc-sec. 20/ 8 20/ 8 20/ 8 20/ 8
Repeatability

B
BB"“%& P = P67 P67 P67 P67
Protection Class

SOLPOWER Complete Torque Motor £ SOLPOWER B2 DPM 331 Torque Motor SE1TH##EH15 -

EBEN2STESR A 220VAC » B{EA 380VAC HIEEENES » Vm x 1.5 » EERIBIS R -

EE Im B 1818 EH Tm -

%E;EE@E?}EZ}’E%@ZK » BEEE - DAMS170 2 RVIaFBEHE/NKR 5 » BRIFIROEEHEMRERENEE - KilTENES SOLPOWER 112
=K

B a
b
c
d

L=

e) P Ps#RBERA RENISHAW XL80+XR20-W BEIER » Hob 20 BIRHERIVER ( IREMRISes ) - &iitiligizEa SOLPOWER TIEAE -

RATRBETEIRISRETHNEIVER » WERBORSZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



DAMS170 EREHKE NERY

External Dimensions without break (in mm)

B8 iR

Connect from

SIDE

ENJJ4E5E Power conn.
BURM23-6pin 180

#REBERETBENCoder conn.
@X#EM23-17pin 1808

8-M6x1.0PxL10
P.C.D.90, 7
(Ll

for Rotary Part

@20 H7 B o)

8-M6PxL6
P.C.D.155 &5

118

BEZEIL(IEE) t
for Fixed Part (Top) 10°

YTt

Connect from

NDE

B)7)#EFEPower conn.
EXRM23-6pin 180

#miBasEEAEENCoder conn.
BXRM23-17pin 1808

KBIEEAWI (083)
(AN

XGHEETEWO (08L)
(BXHHE)

8-M6x1.0PxL10
P.C.D.90, 5
[Lliee

for Rotary Part

020 H7 BF

8-M6éx1.0PxL6
P.C.D.155, 53
BrELE3IL(IEEN
for Fixed Part (Top)

KITHETBWI (083E)
(BNSHR)

XGHEEIEWo (08H)

(BRBHE)

Model L1
DAMS170 (mm)
08 139
14 159
18 179
26 209
2190
KESAIME (BNTHE)
?170
(KRR
0144
BWREAIE
2105 h7
HWRTIEE

for Rotary Part

L2 L3 Approx. Inentia
(mm) (mm) Mass(kg) (kg*cm”2)
92 36 18 48.9
112 56 21 57.2
131 74 24 64.5
161 104 28 751

100

=
©0° é

4-M5x0.8PxL10
P.C.D.30.5 %5

@130 h7
BEZEE
for Fixed Part

wn
O
m
- |
a3
8-M6x1.0PxL12
P.C.D.155, &5
BEEZE3L(EED)
for Fixed Part (Bottom)
wn

REIEGA180E, ox4REEXEINGR, ME>3kg/cmA2
FRBEEKRREME=RIES), BOBEERSumMT

Model L1
DAMS170 (mm)
08 139
14 159
18 179
26 209
2190
KESANME (BNHHE)
@170
(ENBIRE)
2144
BWREAIME
?105 h7
HRTRE

for Rotary Part

L2 L3 Approx. Inentia
(mm) (mm) Mass(kg) (kg*cm”2)
92 36 18 48.9
112 56 21 57.2
131 74 24 64.5
161 104 28 75.1

4-M5x0.8PxL10
P.C.D.30.5 &2

oo

®

@)

EN

8
AR=R-N
m

@130 h7

BEEZEE
for Fixed Part

wn
o
i -
har}
o~
3
8-M6x1.0PxL12
P.C.D.155, &5
BEEZEIL(ED)
for Fixed Part (Bottom)
wn

RUEHEIR180E, 6x4RBEXSING, REE>3kg/cmA2
RRBBEARRAHE=ES), BUBEERSUmMUT




DAMS170 EHE NER Y

External Dimensions with break (in mm)

B8 iR

Connect from

SIDE

BY7J$EREPower conn.
ERM23-6pin 180

#RiBEEHEIBENcoder conn.
E#RM23-17pin 180

8-M6x1.0PxL10
P.C.D.90, 2
BRZI3L

for Rotary Part

020 H7 BZ

8-M6x1.0PxL6
P.C.D.155, &5

118

(BNBHE)

BEEZEILEER)
for Fixed Part (Top) 10°

YTt

Connect from

NDE

B)7J$EEEPOWer conn.
BXRM23-6pin 180

#RiBEEEEEENCoder conn.
BXARM23-17pin 180

Model L1
DAMS170  (mm)
08 177
14 197
FRAEUCL
(P6RE, 5kgf/cmA2) ‘] 8 2‘] 7
FREACL
(@6RE, 5kgf/cmA2) 26 247
?190
KEGANME (BNTHE)
170
(EINTHHE)
D144
BREANE
@105 h7
ERZEE

for Rotary Part

L2 L3 Approx. Inentia
(mm) (mm) Mass(kg)  (kg*cm”2)
130 36 24 52.5
160 56 27 60.8
169 74 30 67.9
e 104 34 78.6

4-M5x0.8PxL10
P.C.D.30.5 FD

®

KBIETAWI (085E)

®

IKHHESAWO (28)

(BRTHHE)

@130 h7
BEZEE
for Fixed Part

o

wn
O
m
3
b
a
8-M6x1.0PxL12
P.C.D.155, &5
EIRLHIL(EE)
for Fixed Part (Bottom)
wn

RIEEIE180E , 6x4REBERSINR , REE>3kg/cmA2

K REGE(=HES) BLEEERS UMM T

Model
DAMS170
08
14
FRAREUCL
(P6RE 5kgf/cmA2) ‘] 8
FECL
(D65 B, 5kgf/cmA2) 2 6

8-M6x1.0PxL10
P.C.D.90, FH
BT

for Rotary Part

020 H7 BF

8-M6x1.0PxL6
P.C.D.155, F5D
BEREZE3(EE)
for Fixed Part (Top)

21

L1
(mm)

177
197
217
247

90
KEFAME (BEXTHE)

2170
(EKTHE)

0144
EREANE

@105 h7
BRZKE
for Rotary Part

L2 L3 Approx. Inentia
(mm) (mm) Mass(kg) (kg*cm”2)
130 36 24 52.5
150 56 27 60.8
169 74 30 67.9
199 104 34 78.6

4-M5x0.8PxL10

KITHETAWI (083E)

(BNBHE)

KBEIEWo (98H)
(BOBHE)

37

@130 h7
BEZEE
for Fixed Part

" P.C.D30.5 %5
©
m
i
|
3
8-M6x1.0PxL12
P.C.D.155, %5
BEIEZE3|(EED)
for Fixed Part (Bottom)
(']

REBIETE180E, 6x4RBEXRSIRNG , REE>3kg/cmA2
AR E(CIES) BUBEERSUMMT




DAMS235 Series

SRR

Model Designations

Rating and Specifications

SOLPOWER Complete Torque Motor

Model DAMS 235 - [ ][] 26 46 60 90
Using SOLPOWER Torque Motor DPM a) 230-070 230-090 230-110 230-140
B8 Item BE{i] unit 2Y{E Value
5 ===z b)

N Vo  Vrms 220VAC
Driver Input Voltage
= c)
RRET Tm Nm 104 184 240 360
Max. Torque
BEEz"
Max. Speed Vm rpm 400 200 200 200
BEMEEINR Pr W 408 723 942 1413
Rated Power Output (816) (1446) (1884) (2826)
ZEEHRD Tr NMm 26 46 60 90
Rated Torque (52) (92) (120) (180)
X T §
HEWR \Vr rpm 150 150 150 150
Rated Speed

[=T-CR
HERR Ir Arms 4.4 4.6 4.4 9.0
Rated Current
= =375 C)
SR m  Arms 24 25 24 50
Max. Current

[}

BRER KT Nm/Arms 6.0 10.0 13.7 10.0
Torque Constant
RRRE)S @100rpm KE  Vrms 40 66 90 66
Back EMF@100rpm (L-L)
Mg P 44 44 44 44
Poles
BrEEEsE Y J Ko om? 480 546 613 713
Rotor Inertia 9 (488) (554) (620) (720)
2T EEFEER =g
"‘Eiﬁ.i}ﬂﬂ (RRERE) Tc 300 300 300 300
Clamping Torque
P~E
L Fa N 4500 4500 4500 4500
Allowable load
oK 7R Fxl Ma N 100 100 120 120
Allowable moment
ERSATO / WaREE
Max. radial / axial runout of Rr/ Ra um 10 /10 10 /10 10 /10 10 /10
endplate
EMEE /| EEEE°
Absolute accuracy / P/ Ps arc-sec. 20/8 20/ 8 20/ 8 20/ 8
Repeatability

B
Bﬁa;%ff‘& IP -- P67 P67 P67 P67
Protection Class

SOLPOWER Complete Torque Motor £ SOLPOWER B&42 DPM 331 Torque Motor SE1TH##EH15 -

BE Im b5 > 1815E L Tm -

=4 a)

b) ERENSLFEERA 220VAC » B{FEF 380VAC HIEEENSE » Vm x 1.5 » ELERIRIRRE: o
c)

d) EEEEJEEEU'\EE@ZX SrEEHZE  DAMS235 £RYIEaFIBELLE

SR 8 BRIFEINR O+ BFEEESI2EE -

e) P PS #RIER RENISHAW XL80+XR20-W FBIFER » Hob 20 BIARHERIVEE ( [RERISES ) -

RATRBETEIRISRETHNEIVER » WERBORSZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.

=E3

Remark

() IR BER BN SHE

() AEVEER BN B HEE

() RHBER BHERE

with 5kg/cm? air supply
KETET (Pneumatic)

=
Lt

Ml

itiBeEnsEs SOLPOWER T2

RiiibEnzES SOLPOWER TEAE -



DAMS235 BERERKE NERY

External Dimensions without break (in mm)

. Model L1 L2 L3 Approx. Inentia
tﬁ\u i'% H:', ,"f:;? DAMS235 (mm) (mm) (mm) Mass(kg) (kg*cm”2)
CRNAESTE (i 26 158 104 42 a7 480
SIDE

46 178 124 62 42 546
E)7J#E58 Power conn.
BR#EM23-6pin 90K 60 198 144 82 48 613
ﬁﬁ%%ﬁ&ﬁﬁEn;uder conn.
e 90 228 174 112 57 713

@255
KERANE (BNTHE)
10-M6x1.0PxL12 @235
P.C.D.160, 5 (RIKTHIE)
BT,
for Rotary Part PZW 6 .
BREANME

036 H7 B ©180 h7 6-M5x0.8PxL10
BRZKE P.C.D.60, £
for Rotary Part
wn
’ ]
_ o
&
oM —
KBHETAWI (083) - -
o EKEED) - //O - o
KIBHEEEWo (O8LE) / m 10-M6x1 .o%xg 2
(ERTHE) Q\ P.C.D.220, 2
) T BRELZEIL(RE)
;OCAS6Z><ZW7(?%</L]36 — " for Fixed Part (Bottom)
BEEZE3ILIEE)
for Fixed Part (Top)
@200 h7
BEZEE RIEREIE 180, 6x4RBEXRSING,, REE>3kg/cmA2
for Fixed Part TREEEK AR ECEIES), BUBEERS UMM T
, Model L1 L2 L3 Approx. Inentia
Y munt DAMS235  (mm) (mm) (mm) Mass(kg)  (kg“cm?2)
Connect from 26 152 98 42 37 480
46 172 118 62 42 546
E)/J#55E Power conn.
BEM23-6pin 180 60 192 138 82 48 613
ﬁﬁ%s}%ﬁﬁEnFoder conn.
BAEM23-17pin 180 90 202 168 112 57 713
?255
KERAIME (BKHHE)
10-M6x1.0PxL12 ?235
P.C.D.160, 45 (ENOBHE)
s
for Rotary Part $§ﬁ,%r2;6wm
FHZER. ==
036 H7 B% ?180 h7 6-M5x0.8PxL10
ERTRE P.C.D.60, &5
for Rotary Part
wn
: ) 3
o
&
™ —
KBHETAW (083E) - -
(ERHHE) @ ~
XIBETEWo (28L) ’
oy 10-M6x1.0PxL12
10-M6x1.0PxL6 il Q\ P.C.D.220, %5
P.CD.227, %5 - BEREZF3L(EZ0)
BEZEEIL(EE) 0 % n for Fixed Part (Bottom)

for Fixed Part (Top)

©200 h7
BEZEE REEIE180E , 6x4REBEXSINR, TE>3kg/cm/2
for Fixed Part FREBEKRIHECHIES) BUBEER UMM T




DAMS235 FE#HA NERY

External Dimensions with break (in mm)

B8 iR

Connect from

SIDE

E)7J5%TAPOWer conn.
BXRM23-6pin 90

#REBEREBBENCoder conn.
BX#RM23-17pin 90

10-M6x1.0PxL12
P.C.D.160, &5
BRTRs,

for Rotary Part

236 H7 BF

10-M6x1.0PxL6
P.C.D.227, %5
BREZE3L(830)
for Fixed Part (Top

YTt

Connect from |

NDE

B)7J#%8EPower conn.
BX#8M23-6pin 180

RS2 HEIBENCoder conn.
ERM23-17pin 180

10-M6x1.0PxL12
P.C.D.160, F5
BRTRS,

for Rotary Part

10-M6x1.0PXL6
P.C.D.227, 5
BERZE3L(830)
for Fixed Part (Top)

> _u (D6, Skgf/cm2)
= (

?255
KERAME (BRTHE)

Model L1
DAMS235  (mm)
26 207
46 227
FRAEEUCL
60 247
FRECL
D6RE, 5kgf/cmA2) 90 077

L2 L3 Approx. Inentia
(mm) (mm) Mass(kg) (kg*cm”2)
154 42 51 488
174 62 56 554
194 82 62 620
224 112 71 720

ERTHE)

2216
EREASNME

2180 h7
BRZEKE

for Rotary Part

6-M5x0.8PxL10
P.C.D.60, F7

@200 h7
BEZEE
for Fixed Part

‘ wn
— ! 5
o
©
™M
KBIEEWI (085) -
AN _
KBHEEEEWO (28KH) 9
AR
10-M6x1.0PxL12
P.C.D.220, &5
" B #3L(ED)
for Fixed Part (Bottom)
©200 h7
BEZEE REEEE180% , 6x4REEXSZING. , REE>3kg/cmA2
for Fixed Part FREBEKTERMECHES) BUBEERS UM T
Model L1 L2 L3 Approx. Inentia
DAMS235 (mm) (mm) (mm) Mass(kg) (kg*cm”2)
FREREUCL
(D6, 5kgf/cmA2)
26 201 148 42 571 488
FRECL
| (QORE Shgl/em"2) 46 221 168 62 56 554
60 241 188 82 62 620
90 271 218 112 71 720
@255
KESAME (BKBHE)
@235
(BRI
2216
WREANE
©180 h7
EReRE 6-M5x0.8PxL10
) for Rotary Part P.C.D.60, 7
‘ v
— ) 5
o
©
1
KBHEGAWI (283) & -
(BNSHE) /«O -
i
KSIBTEWO (28H)
(ENHE)
10-M6x1.0PxL12
Q\ P.C.D.220, 5
E BIRELEE3L(EL)
N g " for Fixed Part (Bottom)

REBIEGE180E, 6x4RBEXSNE , RE>3kg/cmA2
RREBRKREHECRES) BVBEZRSUmB T




DAMS316 Series EREFRAR

Model Designations Rating and Specifications

SOLPOWER Complete Torque Motor _
Model DAMS 316 - [ ][] o9 95 18 1H st
Using SOLPOWER Torque Motor DPM &) 310-080S  310-100S  310-120S  310-150 RCINETL
IBH Item BE{i] unit & Value

=1 == =E D)
REENE N\ B Vo Vrms 220VAC
Driver Input Voltage
= c)
BAET) Tm Nm 200 380 480 720
Max. Torque
BEEE"
Max. Speed Vm rpm 300 150 150 100
BEEHHIIR 576 995 1256 9492 . .

i Ers A
Rated Power Output Pro W (1162)  (1990)  (2512)  (1g84) O PIOVENERBATRIE
EEHRN 55 95 120 180 ~ .
i Ers A

Rated Torque T Nm (110) (190) (240) (360) () REVEER BN THEE
E = i §
HENE vr rpm 100 100 100 50
Rated Speed

[=T-cR
REE Ir Arms 7.3 75 8.6 7.2
Rated Current
= =375 C)
BA®H Im Arms 42 42 48 40
Max. Current

h
BN KT  Nm/Arms 7.2 12.6 14.0 5.2
Torque Constant
[=5]

=R EEE @100rpm KE  Vrms 51 84 94 168
Back EMF@100rpm (L-L)
e D 44 44 44 44
Poles
ByEanEsE *om? 1882 2056 2239 2512 5 2
Reter e J o kgemt  q905)  (2079)  (2262)  (esay) ) AMMERTREME
HEHRAT) (FRERE) with 5kg/cm? air supply
Clamping Torque A e e Sl e 200 KREEET (Pneumatic)
~H F
BHERAR Fa N 9000 9000 9000 9000 ﬁ
Allowable load L

£ i s L p'_L'E
REFDEEM FxL Ma Nm 200 200 240 240 %;l ==
Allowable moment :
ERSATO / WaREE
Max. radial / axial runout of Rr/ Ra um 10/ 10 10/ 10 10/ 10 10/ 10
endplate
ELEE | SEEE°
Absolute accuracy / P/ Ps arc-sec. 20/ 8 20/ 8 20/ 8 20/ 8
Repeatability

e
%"“%ﬁ P - IP67 P67 IP67 P67
Protection Class

SOLPOWER Complete Torque Motor £ SOLPOWER B2 DPM 331 Torque Motor SE1TH##EH15 -

EBEN2STESR A 220VAC » B{EA 380VAC HIEEENES » Vm x 1.5 » EERIBIS R -

EE Im B 1818 EH Tm -

%E;EE@E?}EZ}’E%@ZK » BEtEE - DAMS316 £ RVIaFBENE/NK 3 » BRIFIROEBHEMEEENEE - KilfiiENzES SOLPOWER 112
=K

=1 a
b
c
d

L=

e) P Ps#RBERA RENISHAW XL80+XR20-W BEIER » Hob 20 BIRHERIVER ( IREMRISes ) - &iitiligizEa SOLPOWER TIEAE -

RATRBETEIRISRETHNEIVER » WERBORSZEA -

The company reserves the right to modify the specifications/design, subject to change without further notice.



DAMS316 EAREHKE NERY

External Dimensions without break (in mm)

B8 iR

Connect from

SIDE

&)/)$%5E Power conn.
EX#EM23-6pin 90

#RiBE8ETEENCcoder conn.

BXRM23-17pin 90

10-M6x1.0PxL12
P.C.D.200, &5
BT

for Rotary Part

236 H7 8%

10-M6x1.0PxL10
P.C.D.304, %5
BEZE#3L(EE0)
for Fixed Part (Top)

YTt

Connect from

NDE

E)JJHE5E Power conn.
BEM23-6pin 180

#RiSESHEEBENCcoder conn.
Br#8M23-17pin 1808

10-M6x1.0PxL12
P.C.D.200, 5
(el

for Rotary Part

10-M6x1.0PxL10
P.C.D.304, 5
BEZ$3L(EE)
for Fixed Part (Top)

10-M10x1.5PxL15
P.C.D.200, &5
[Elie

for Rotary Part

168

KIBHEIAW (085E)
(BERHHE)

KBHEIBWo (28L)
(BKHHE)

Model L1 L2 L3 Approx. Inentia
DAMS316 (mm) (mm) (mm) Mass(kg) (kg*cm”2)
58 186 124 67 77 1882
95 200 138 81 87 2056
1B 220 158 101 97 2239
1H 250 188 131 110 2512
?336
KERAIME (BRHHE)
2316
(FNOBHR)
@290
BERANT
0255 h7 6-M5x0.8PxL10
ERZRE
for Rotgazry Part P.CD.60, 523
' - &
@
5 ° -
= 10-M6x1.0PxL12
J—_Aﬂ o\\ { P.C.D.BXOO, %?Xﬁ
BEEZEIL(ED)
w for Fixed Part (Bottom),
@260 h7 - " y
oot RIEHEIE180E , 6x4REEXENR. , WE>3kg/cmA2
fﬁfjﬁrt FREBEKTEHECHIES), BUBEERSUMM T

@260 h7
EEZKE
for Fixed Part

Model L1 L2 L3 Approx. Inentia
DAMS316 (mm) (mm) (mm) Mass(kg) (kg*cm”2)
58 186 124 67 77 1882
95 200 138 81 87 2056
1B 220 168 101 97 2239
1H 250 188 131 110 2512
2336
KERANME (BEXHHE)
2316
(EXTHHE)
2290
10-M10x1.5PxL15 BREAME
P.C.D.200, F5
BERRERES, 0255;;7 6-M5x0. SEXU 0
for Rgoztary Part fofgfft;;:;rt P.C.D60, 5
[ q
KIBIBIEW (085) / " ]
(ERBHE) L ~
KBHEBEWo (28HE) /O
(KB
o\ 10-M6x1.0PxL12
B g K P.CD.300, %5
— BEEZEIL(E)

for Fixed Part (Bottom)




DAMS316 FEHE NER Y

External Dimensions with break (in mm)

Model L1 L2 L3 Approx. Inentia
DAMS316 (mm) (mm) (mm) Mass(kg)  (kg*cm”2)

B8 iR

Connect from
55 236 174 67 104 1905
95 250 188 81 114 2079
P—— FAEBUCL
BHPower conn. (P6FE,5kef/cmA2.
23 6pin SO jenBsigats 1B 270 208 101 124 2062
#RiB221EEEENCcoder conn. FECL
BX#EM23-17pin 90 (P65 E 5kgf/cmA2) 1 H BOO 288 —I 81 1 87 2537
?336
IKERAINME (ENBHE
M6x1.0P 2316
3|, @290
for Rotary Part ERERANE
10-M10x1.5PxL15 Q,:ZS e grygxgogggo
for Rotary Part | for Rotary Part ‘ -
I 1 7
IKBEETAWI (085E) =
(EKBHE) N
0
| KSHEIEWO (28L)
(EKBHE)
10-M6x1.0PxL12

5
10-M6x1.0PxL10
P.C.D.300, 2

I%%@?i%ﬁ%ﬂ) o BEEZFI(E30)
for Fixed Part (Top) 0260 h7 for Fixed Part (Bottom)
BEZLE RIEIEER 180, 6x4RBEXSINER , RE>3kg/cmA2

R

B REE(CRIES) BLEEERS UM T

for Fixed Part

Model L1 L2 L3 Approx. Inentia
Y mfunt ) DAMS316 Mass(k kg*cmA2
1 itz (mm) (mm) (mm) ass(kg)  (kg"cm”2)
FMEBUCL
Connect fro (D65, Skgf/cmn2) 55 236 174 67 104 1905
NDE s s
Skgf/cmA
s 95 250 188 81 114 2079
&)/J15EPower conn.
BX#M23-6pin 1808 1B 270 208 101 124 2262
#REBa2EEEENCcoder conn.
M23.170n 1508 1H 300 238 131 137 2537
2336
KERANME (BRBEE)
2316
PCD200, 55 AT
[EhiEe i 2290
for Rotary Part ) BREANE
10-M10x1.5PxL15 ©255 h7
- P.C.D.200, 5 Rt 6-M5x0.8PxL10
236 H7 BZ [EtEe for Rotarz; Part e P.C.D.Xeo, 'f:ﬁ
for Rotary Part [ |
[ 1 n
[ ~
©
i
o KBIEEWI (0858) © 3=
o (BRBHE) /O
© o
10-M6x1.0P; g0 (08t
-M6x1.0Px| o (BKTHE)
P.CD304, 55 gl —_—
EEZE3(EER) - T 0\ 10-M6x1.0PxL12
for Fixed Part (Top) @ % " &[LB%O}LT?’_?J‘M
— B3RS

for Fixed Part (Bottom)

@260 h7
BEZLE
for Fixed Part

RUEEEETE180E, 6x4RBEXSINR , REE>3kg/cm”2
FRBBRKTEHECHES), BOBEERS UMM T










SOLPOWER MACHINE ELECTRONIC CORP.
RERSRMHBERAE

No.89, Ln.1005, Sec 1, Hemu Rd.. Qingshui Dist.,
Taichung City 43641,Taiwan(R.O.C)

43641 RMBKEBHER—E10058895%

TEL: +886-4-2620-2888

FAX: +886-4-2620-2777

www.solpowermotor.com !BE;EI
E-mail: sol.powerasolpower.com.tw [Ohrc4



	20190318_晟昌_DAMS型錄_電子瀏覽擋  (中)(英)-1
	20190318_晟昌_DAMS型錄_電子瀏覽擋  (中)(英)P3
	20190318_晟昌_DAMS型錄_電子瀏覽擋  (中)(英)p4
	20190318_晟昌_DAMS型錄_電子瀏覽擋  (中)(英)
	20190318_晟昌_DAMS型錄_電子瀏覽擋  (中)(英)-24

